() KERHER CAAIRX)
(omsms

N
AEBIRE. ERHARBDSRTIH/ \ETZEBUREEA X TEERITDEEMGETHD. EFEENSUEESRLEEIC
NDRFEFB THDEEEIC, I/ \EFDREF A, EMHMARHDBSBUIRE DEL IR ZHBSIBIRCED DX,
OFEWE
ABEXBTEBIBENI3. OMIBEEMELS, RBENADBITO. —RETWOINENHDRERINR T, FCXHBEERFD
L ETICEEICREEETZ LU TCNDIRNR THDCENS, BEHRRICIDBITEMDRZEDERZHNDIEDTT, )
OtEtie (186 O8R51587T
BIBIRIE | BI3BE4 R GREHRE3O0OKkm/h)
EEe  Ei  40m = 70m
BB 30m = 55m (275mXx2)
IBEE O5mX2 = 075mX2
OIEREE
DN g SHQ
—\,é o ¢ 4
— wm N o
EOMTSE (BTTH) N
TH#:R6.6~R7.2 FIE B e e
O LBEX ) ' | E £ {I} E\EH.
: : R e Sy 55T
R b ; e N . }?)- A | A e
%/ ; . gj \ o T : S R N
| . \%o_u s % _,.__. &‘.;, ,*\d; 2 o
=" ! ) 74 e
= g . £1MTF (BRI
: _ _ THA : R5.2.8~R7.3.25
& = | S v
Ehe+ & \M;\I/L%i%:qu oM B I prmam s om
(B/IVARNIX) (BRIX) ; = Wk E




